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kl/df)f nfut kl/df)f vr{

kl/df)f ah]^ kl/df)f ah]^ kl/df)f ah]^ kl/df)f ah]^
1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16

s k'hLut vr{ cGt/utsf sfo{qmd lqmofsnfkx? M 83825 0
c cfly{s ljsf; tkm{ 22620 600 0 10220 0 11800

1 j*f g+ 1 11 ;Dd :ofp / c+u'/sf lj?jf ljt/)f tf/hfnL l;rfO{ 20820 0 9620 0 11200
1=1 c+u/ lj?jf vl/b tyf ('jfgL 2300 0 2300
1=2 tf/hfnL of+un vl/b ('jfgL 7320 0 7320

1=3 :ofp / c+u'/ lj?jf j[l$ k|f]T;xfg cg'bfg 11200 0 11200
2 dlxnf cfocfh{g sfo{s|d 1800 600 600 600

2=1 dlxnfsf] dfudf cfwfl/t sfo[s|d 1500 500 500 500
2=2 jx'If]lqo kf]if)f sfo{s|ddf ;dk'/s sf]if 300 100 100 100
cf k'jf{wf/ ljsf; tkm{ 5125 1708 1708 1708

3 gu/kflnsf ejg tyf lkmN* lgdf{)f 5125 1708 1708 1708
O ;fdflhs ljsf; tkm{ 700 0 700 0

4 x]Ny cl;:^]G^ / :^fkm g;{ cWoog %fqj[lQ hgf 2 700 0 2 700 0
O{ ;:yfut ljsf;, ;]jf k|jfx / ;'zf;g tkm{ 1452 484 484 484

5 GofoLs ;ldlt Joj:yfkg vr{ 1452 484 484 484
6 j*f g+ 1 b]lv 11 ;Ddsf ljsf; of]hgf sfo{s|d 43015

j*f g+= 1 5125 1708.3 1708.3 1708
1 lqk'/f df=lj=kmlg{r/ tyf af^f] lgdf{)f 500 166.67 166.67 167
2 %nuf* n#' hnljw't cfof]hgf 400 133.33 133.33 133
3 ejfgL cf=lj= uNnL #]/fjf/ 200 66.667 66.667 67
4 n]vgfy cf=lj= klg{r/ lgdf{)f tyf #]/fjf/ dd{t 200 66.667 66.667 67
5 dxfsjL b]jsf]̂ f cf=lj= klg{r/ lgdf{)f / em\ofn (f]sf dd{t 200 66.667 66.667 67
6 lxdHof]tL cf=lj= #]/fjf/ lgdf{)f 500 166.67 166.67 167
7 j*f sfof{nosf] hUuf lkmN* lgdf{)f 200 66.667 66.667 67
8 lqk'/fsf]^ :jf:Yo rf}sL em\ofn (f]sf lgdf{)f 150 50 50 50
9 afnf lqk'/f;'Gb/L dlGb/sf] nflu afhfufhf vl/b 100 33.333 33.333 33
10 vf}nfb]lv ljw't s'nf ;Dd #f]=af= lgdf{)f 300 100 100 100
11 tfd]#f^b]lv #§;Ddsf] l;rfO kfOk$f/f lgdf{)f 300 100 100 100
12 ('é];fp b]lv tNnf] wf/f;Dd l;rfOs'nf] dd{t tyf t*aGwg 400 133.33 133.33 133
13 kmnkm'n v]tLsf nflu kfOk vl/b / l/hj{ ^\of°L lgdf{)f 475 158.33 158.33 158
14 s/]nLsf*f b]lvem"/sf x'b} ;ftbf];f ;Dd #f]=af= lgdf{)f 600 200 200 200
15 sd]/L df^fb]lv ufp x'b} xkfévf]nL ;Dd t*aGwg lgdf{)f 600 200 200 200

j*f g+=2 7300 2433.3 2433.3 2433
1 aneb| lg=df=lj= ejg dd{t tyf lgdf{)f 1500 500 500 500
2 dxfsfn cf=lj= ejg dd{t tyf lgdf{)f 1000 333.33 333.33 333
3 eo/yfg dlGb/ lgdf{)f 400 133.33 133.33 133
4 lqk'/fsf]^ df=lj= vfg]kfgL of]hgf 500 166.67 166.67 167
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5
db\b' vfg]kfgL of]hgfdf Jojl:yt wf/f lgdf{)f tyf (n lgsf;sf nflu cfjZos ;fdfg 
vl/b tyf lgdf{)f 950 316.67 316.67 317

6 cfn' tyf n;'g v]tL lgdf{)fsf nflu #]/fjf/-bfub'n l;nb]lv b]pn ;Dd_ 1500 500 500 500
7 /l; u'Djfb]lv jon*f+*f vfg]kfgL of]hgf 900 300 300 300
8 Hof]tL cf=lj= O{=;L=*L= ejg lgdf{)f 500 166.67 166.67 167
9 ;:yfut ljsf; ;]jf k|jfx tyf ;'zf;g 50 16.667 16.667 17

j*f g+= 3 5150 1716.7 1716.7 1717
1 ;'FkfgL b]lv ;' / lhp df]^/ af^f] lj:tf/ 1000 333.33 333.33 333
2 e]*Lsfg b]lv ;' vfg]kfgL lgdf{)f 1000 333.33 333.33 333
3 dxfb]j cfwf/e"t ljBfno #]/fjf/ lgdf{)f 1000 333.33 333.33 333
4 a*fvf]nf dfOqmf] xfO*«f]kfj/sf] Doflrª km)* 1100 366.67 366.67 367
5 lhp o'jf v]nd}bfg lgdf{)f qmdfut 362.5 120.83 120.83 121
6 ;" o'jf v]nd}bfg lgdf{)f qmdfut 362.5 120.83 120.83 121
7 ;" dxfb]j dlGb/ lgdf{)f 162.5 54.167 54.167 54
8 lhp b]ptL dlGb/ lgdf{)f 162.5 54.167 54.167 54

j*f g+= 4 1110 370 370 370
1 nf]̂ Lh*f b]lv &f^L ;Dd df]̂ / af^f] lgdf{)f 425 141.67 141.67 142
2 k|sfz lg=df=lj= #]/fjf/ 385 128.33 128.33 128
3 k|sfz lg=df=lj= ;/:jtL dlGb/ lgdf{)f 300 100 100 100

j*f g+= 5 2100 700 700 700
1 vbfé b]lv Nxf ;Dd u|fld)f ;*s lgdf{)f 1400 466.67 466.67 467
2 kmf]S;')*f] cf=lj= ejg lgdf{)f 500 166.67 166.67 167
3 dxfb]j b]jtfsf] dlGb/ lgdf[)f 50 16.667 16.667 17
4 ;"o{$o o'jfSnj v]ns'b ;fdfu|L vl/b 50 16.667 16.667 17
5 j*f sfof{no Joj:yfkgsf  100 33.333 33.333 33

j*f g+= 6 1700 566.67 566.67 567
1 wf]/fvf]nf b]lv km'lNr*;Dd df]]^/ jf^f] 1000 333.33 333.33 333
2 jNb] x'b} j'/fcf? vfg]kfgL 600 200 200 200
3 v]ns'b tyf v]ns'b ;fdu|L 100 33.333 33.333 33

j*f g+= 7 3600 1200 1200 1200
1 %nufp b]lv l&u]gL wf/f ;Dd #f]/]^f] af^f] 700 233.33 233.33 233
2 vfkf :ofp v]tL l;rfO lgdf{)f 700 233.33 233.33 233
3 ;fOnfjf*f t*aGwg qmdfut 400 133.33 133.33 133
4 vqLjf*f vfg]kfgL dd{t 150 50 50 50
5 ef]/ufp vfg]kfgL lgsf; 700 233.33 233.33 233
6 :jf:Yo rf}sL d}bfg lgdf{)f 100 33.333 33.333 33
7 s:t'/L lg=df=lj= v]nd}bfg dd{t 150 50 50 50
8 cf}tf/L cf=lj=sf]&f l;lnª lgdf{0f 50 16.667 16.667 17
9 eujtL cf=lj= kvf{n dd{t 100 33.333 33.333 33
10 vfnL%x/f n#' hnljw't dd{t 400 133.33 133.33 133
11 %n b]lv j*f ejg;Dd jf^f] dd{t 150 50 50 50

j*f g+= 8 4380 1460 1460 1460
1 vfnL%x/f n#' hnljw't dd{t 400 133.33 133.33 133
2 vfnLjg vfg]kfgL dd{t tyf lgdf{)f 600 200 200 200
3 df]lt/fd cf=lj= #]/fjf/ 75 25 25 25
4 hgs cf=lj= 3 sf]&] ejg 1080 360 360 360
5 cf/]vf]nf b]lv envf]nf l;rfO 600 200 200 200
6 b]p/fnL cf=lj= b]lv ufp;Dd ('Ëf la%fpg] 400 133.33 133.33 133
7 b]p/fnL cf=lj= kn+lsª 100 33.333 33.333 33
8 snf;f b]lv kfNt]vf]nf l;rfO 700 233.33 233.33 233
9 (fn b]lv uf]? AffGgf ;Dd #f]/]^f] af^f] 300 100 100 100
10 wf}nflu/L cf=lj= kmlg{r/ 50 16.667 16.667 17
11 kxf*f :jf:Yo rf}sL dd{t 75 25 25 25

j*f g+= 9 4050 1350 1350 1350
1 dxfb]j dlGb/ lgdf{)f tyf #]/fjf/ 1000 333.33 333.33 333
2 ufjf] vf]nfb]lv w'dvf]nf ('ª\uf la%fpg] 600 200 200 200
3 ;'ssf]]^L dlGb/ lgdf{)f 300 100 100 100
4 s'l^nf b]lv dfly vf]nbL #f]=jf= lgdf{)f 300 100 100 100



5 kf/L vf]k' l;rfO cfof]hgf 300 100 100 100
6 hglk|o cf=lj= 4 sf]&] ejg dd{t 700 233.33 233.33 233
7 Wofªaf/L t*aGwg lgdf{)f 150 50 50 50
8 lns' :jf:Yo rf}sL kmlg{r/ lgdf{)f 200 66.667 66.667 67
9 vfnL %x/f ljw't d'xfg dd{t 500 166.67 166.67 167

j*f g+= 10 3640 1213.3 1213.3 1213
1 sfl~h?jf cf=lj=df 2 sf]&] ejg tyf zf}rfno lgdf{)f 1400 466.67 466.67 467
2 /fi «̂klt /lgªl;n elnjn d}bfg lgdf{)f 200 66.667 66.667 67
3 vfnL %x/f ljw't dd{t tyf ;fdfg vl/b 400 133.33 133.33 133
4 j*f sfof{no ejg dd{t, kvf{n / vfg]kfgL lgdf{)f 840 280 280 280
5 sfkmf}/ b]lv bfk' x'b} lns' ;Dd vfg]kfgL lgdf{)f 800 266.67 266.67 267

j*f g+= 11 4860 1620 1620 1620
1 cd/l;+x cf=lj= tf/hfnL #]/fjf/ dd{t 1100 366.67 366.67 367
2 s~hGh+#f cf=lj=tf/hfnL tf/hfnL #]/fjf/ dd{t 1100 366.67 366.67 367
3 /fdzfx cf=lj= tf/hfnL #]/fjf/ dd{t 1100 366.67 366.67 367
4 j*f sfof{no tyf ljljw aQL vfg]kfgL lgdf{)f 500 166.67 166.67 167
5 n#' sfi& pBf]u ejg lgdf{)f 460 153.33 153.33 153
6 d]ntn b]lv anfu|;Dd df]̂ / af^f] 600 200 200 200

p jftfj/)f tyf ljkb\ Joj:yfkg tkm{ 10913 3637.7 3637.7 3638
7 ljljw 7913 2637.7 2637.7 2638
8 cGo 3000 1000 1000 1000

v rfn' vr{ 72597 25928 24558 22111 72597
1 tnj 21280 7094 7093 7093 21280
2 :yfgLo eQf 5893 1965 1964 1964 5893
3 dx+uL eQf 1128 376 376 376 1128
4 kf]zfs eQf 940 940 940
5 kbflwsf/Lsf] kfl/>lds 7826 2609 2608 2609 7826
6 sfof{no tyf cfjf;sf] nflu #/ef*f 1150 384 383 383 1150
7 sfof{no ;xof]uL s/f/ ;]jf kfl/>lds 2920 1150 885 885 2920
8 ^]lnkmf]g ;+rf/ dx;'n 362 120 120 122 362
9 cGo O{Gwg 200 70 70 60 200
10 sfof{no ;+rfng vr{ 3200 1066 1066 1068 3200
11 e|d)f eQf 2952 984 984 984 2952
12 kfgL / ljh'nL 86 29 28 29 86
13 gu/;ef ;+rfng 70 0 35 35 70
14 sfo{s|d vr{ 200 50 100 50 200
15 ljljw sfo{s|d vr{ 100 50 50 0 100
16 e}k/L cfpg] vr{ / ;xfotf 200 50 100 50 200
17 Ifdtf clej[l$ 200 0 200 200
18 Pkm= Pd ;'rgf k|zf/)f / k|sfzg 500 100 200 200 500
19 kmlg{r/ vl/b 300 300 0 0 300
20 cGo vr{{ 200 50 100 50 200
21 d]l;g/L cf}hf/ vl/b 200 200 0 0 200
22 cf}ifwL, pks/)f / ;DjlGwt ;fdu|L vl/b 1500 1500 0 0 1500
23 cltly ;Tsf/ 100 30 40 30 100
24 ljljw 1000 300 350 350 1000
25 OGwg vl/b 3000 1500 1000 500 3000
26 *f]h/ ck/]^/ tnj 200 85 70 45 200
27 *f]h/ dd{t 5000 2000 2000 1000 5000
28 cWoog tyf cjnf]sg e|d)f 960 0 960 0 960
29 kbflwsf/Lsf] a}&s eQf 4452 1484 1484 1484 4452
30 gu/ k|x/L tnjeQf 3000 1000 1000 1000 3000
31 cGo s/f/ ;]jf 700 200 250 250 700
32 *f]h/ ck/]^/sf] eQf 800 266 266 268 800
33 *f]h/sf] ;xof]uL s/f/ ;]jf 390 130 130 130 390
34 dlxnf ;+hfn tflnd sfo{s|d 500 0 500 0 500
35 vf]k ('jfgL 100 30 30 40 100



36 k|;'lt s]Gb| pks/)f vl/b 200 200 0 0 200
37 *^\; ;]jf s]Gb| ;+rfng-lq=:jf= rf}sL_ 50 50 0 0 50
38 Nofj ;]jf ;+rfng-lq=:jf= rf}sL_ 300 300 0 0 300
39 Nofj cl;: ]̂G^ s/f/ 240 80 80 80 240
40 cf/= cf/= cfO{ cf}ifwL vl/b 100 100 0 0 100
41 ;"Ts]/L cfdfnfO{ vfgf / jf; 50 10 20 20 50
42 sfo{;ldltsf ;b:onfO{ ;+rf/ ;]jf ;'ljwf 48 16 16 16 48

s / v sf] s'n hDdf 156422 0
k]z ug]{ l;kmfl/; ug]{ :jLs[t ug]{
gfdM lx/frGb| w/fnf gfdM kbd k|;fb vgfn gfdM g]q/fh lu/L
kbM gfoj ;'Jjf kbM n]vfkfn kbM lg= k|d'v k|zf;sLo clws[t
ldltM2075.6.19 ldltM 2075.6.19 ldltM 2075.6.19


